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NOTE: Write answers to the questions on‘pbjective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consi

question with Marker or pen ink on the answehsheet provided.

1.1. Factors of 3x° —x—2 are
@) (x+1).(3x-2)
2. HCFof @’ —b>and a' —b’ is:
(A) a=b B) a+b
3. x=0is a solution of inequality.
Ay x>0
4. Point (—3- ‘3) lies in quadrant.
(A) 1 (B) 1I

5. A triangle having all the sides equal is called:
AUl (B) equilateral {usniLe (C)

(A) isosceles

(B) {x+ 1)1(3.\’ +

B) 3x+5<0 (

(©)

x-2<0

(€)1

scaleRe

(©) (:( —1),(3.1: - 2)

k] Y
a +ab+b”

r correct, fill the corresponding circle A,B,C or D given in front of each

cSFommmeeQ AL 3N —x =2 1
(D) (x~1),(3x+ 2)

= 1 2 9
- LE {." —b g =b 2

O) a —ab+b’

_QC/CK;:J'V[_&UV;‘; x=0 3

(D) x+2<0

et BL S (-3.-3) 5 4
(D) IV
e Qieun o USL woie UL S ek 5
£ weuii¥ (D) right angled trianglesd® i) =46

6. A has two end points. B0 SO 2 WO L6
(A) line & (B) line segment a8 (C) ray (D) plane (&
7 Dis the figure of -.;..u’ ..... J{‘ D 7
(A) parallalogram {w=ui 5 (B) square &y (C) rectangle (D) trepezium s
8. If(% is right bisector of line segment AR, then mAQ = ... MNe mAQ%...... it v AR b (ﬁéjﬁ 8
A 0 8
::Q
4D
— o I S
(A) mBQ (B) mOQ (C) mOA (D) mOB
9. Three non-colinear points determine a U S5 AT
(A) ray $&* (B) line & (C) line segment L5453 D) plane (&
10. Unit of area is: ,QJKJJJ; 10
(A) m? (B) m™ (C) m . m*
11. The medians of a triangle cut each other in the ratio ,ugl_/{:",”u::..f{(___ -Jr;/‘n_._{la_'_l.h-sl._".li A4
(av 4 -1 (B) 3:1 (C) 2:1 (D) I\ 1
200 0
21, N is called matrix. e b I B 12
(A) zero (B) scalar Va (C) unitary Jr,w (D)
13. 1n Y35 the radicand is: V35 13
1
(A) 3 (B8) ;3 (C) 35 (D)
14 The logarithm of unity to any base is weslt v 14
(A) 1 (B) 10 (C) e (D) O
." / a -~
15: (-H'\E)@_ﬁ)is equal to: _la.,:F/.(J"' 2)(3 \/5) A5
(A) 7 (B) -7 (€) -1 ,e (D) 1
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Section -I 2x18=36 Jilo
2. Write short answers of any six parts from the following. 2x6=12 _q&/"ayﬁﬁ?&.fzgadﬁ’r_dd;@ﬂ R
i. Define rectangular matrix. ,:r_f:y/{f__ﬂ?oi)’? d

:ﬁ’c}i’r"}”:’fJAB ii
_F i

3 0y 6
i. Find AB, if: d=| o o8l

ii. Simplify.

_é{/b’u:ﬁ; a+bi ;,

iv. Simplify in the form of ¢ +bi ( 5-3i

v. Find the value of X ,when: _ﬁz_ﬁf,:k’;EJ v
vi. Express in ordinary notation. 865 x 10° ,a_’ﬂvf:(f Al Vi
(¥+ 2)(x2 - I)

vii. Reduce to the lowest form: g l)(xz _ 4) _e}’duifg{}/y Vi

il Simplify: +\/§)(3*‘\/§) a8 i
ix. Factorize: X -11x-42 -4{5/’“ ix

3. Write short answers of any six parts from $He following. x6=12 -y Sfelz Al zge e tdits 3
i. Define L.C.M. Sy 19 R
ii. Solve the equation- J3x+5=3x-1 -e_,fff)’..».r:u i
i Solve the equation 3x-5|=4 = ‘_éFJ”._.A’ S i

s -
iv. Define origin. _é_iyﬁcrrg iv

v. Plot on thg’graph paper. P(0,6),Q(3,0) -a_ﬁ:;lﬁ,;guji); RY
vi. Write distance formula. _g@,«,um vi

vii. Find mid point of line segment of these points. A (—8, l),B(ﬁ. l) _z_,i?#ﬂ(}wﬂs;ﬁr_;u,@uiul Vi

viii.

Alhat is meant by 4.5.4.= AS.47? e UK AS A Z AS.A i

-r.‘.{r':i” mzL uﬂf&iﬁ: i

>

ix. Find mZ L in given figure.

N



| 4- Write short answers of any six parts from the following. 2x6=12 J//juLli/‘{Cfl?l;c..d:(;.u‘J;C» -4
i. Draw a diagram if any point in the bisector of an angle is L L gintle ,i;‘ffé:-lb__pu i
equidistant from its arms. _ﬁ:_br,l-’wid:l/c..u- it
ii. What is meant by scalane triangle? Draw its figure. S L-,_LFJJJ@‘(_,.J/L{C,_-:,&{,MU!_;B i
ii. What is meant by proportion? S Aol ot i
iv. WmAE =3.2cm . mAD =2.4cmand mBC = 4.8cm . SmAE =32em | mAD =2.4cm S
find mAB . D E - éri,("j” mAB ¥ mBC =4.8¢cm
) Vi
: B C
v. Define ratio. _bf/(_éfﬂﬁ:,r: RY
vi. Define the altitude of parallelogram. A ’c_,f—t,a_J_/""J(‘_,LaLrL{,LLbLI!dJI? Vi
vii. Define circumcentre of a triangle. _gf_;;f/&;&n/v&:ﬂif‘;/ Vi
 viii. Find the value of x in the given figure. 1sem 13cm _g?}%,éu‘ x AL i
B |_ cC
x 0 5cm
ix. Constructa AABC in which: mAB=42cm , mBC =39cm , A =3.6cm —u:zf'a.J..'{L'f-ABCd'—-if‘ i

Section -1I

Note: Attempt three questions in ali while Q:No.9 is compulsory:

(a) Solve the given system of linear equations by Cramer's rule.

r‘.u.b
_4‘;_d;ugjz"dir.géq)}f_-,ugiaurmfj .
- af-(J’./_—_.uJu;EZ.ﬁ/@’u?J,-va; () 5

8x3=

_EF (L)

{b) Simplify: (0_04) 37
0.7214%x20.37 } .
{a) Use Log table to find the value of. %} 503 __;_‘;‘f?,lv_:,{!a_uwwﬁﬁ.l () 6

(b) Find the value of ab+bc+ca it

{a) Factorize

'b) Find the square root by division meffod:

@+ bt =45 ga+b+c=-1
8x' —1253" —60x7y +150xy”

4425x> —12x—24x" +16x"

;ﬂq,"f‘bf&,_?J ab+hbc +ca (,___,)
_c_,;if/;(-.ﬂj') T
e ()

S(X = 3) A
a) Find the solution set of given g4uation: % —_le_g ,bf/?}#_*{bl"{_-,i,«vdf; ():
(b) Construct the A 4B( .Draw/the perpendicular Ll e b ABC A (“:-‘)
bisectors of its sides. mAB=24em . mAC=32em , mZA=120° ,.\_;_":-'{_;/tg,,f
Prove that the bisectors of the angles of a triangle are concurrent. ,L,{_t!_.yr,bﬁlf?_yti gt .:Liﬁ;ffé.:.c& 9
CR L
Prove that triangles on the same bases and of the same e Ans s jlfuw;lgf_urmw:u ey f..f:’t_;;l’? i fcf =
--L_;L,J'fflz

altitudes are equal in area.
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on theXanswer sheet orovided.
12
..é_,:F,{ Ad} 0 =] o 7%

1 2
-1 =2 -1 0
© o 1 @ |2 1

1.1. Adjoint of [0 ~l] is equal to:
e P 2ablit i) A 2

-1 2 1
CYR I - B {0

2. Real part of 2”13(5"’?'2) is:

(A) —2uab (B) 2abi () 2ab (D) —2abi

3 (08) % (0] can pe written as BPSs 2P Y I s log; xlog! 3
(A) (og, (B) (og; () log, (D) fog!

4. (\/E+JS)(JE-JE) is equal to: _{..;:lx(\/;+\/5)(\/;_\[g) 4
(A) a+b (8) a-b a’ +b} o) o -b’

\ AL 3x’-x-2 5

N

a2
5. Factors of 3X —X—2 are:

(A) (,r-l)(3x+2) (8) (.1'+l)(3:r+2) (x+1)(3x—2)' (D) (x—l)(3x—2)

6. HCFof x’=5x+6 and x’ —x—-6is I — (ﬁ"l;w.‘cz—x~6»lx3-5x+6 6
(A) x+2 (B8) x-2 © x\-4 (D) x-3
X = 2 : 2<x 2 ;X =

7. is a solution of the inequality ~ S ) Sl ST RIS yebled” T 7

L3 3

(A) TS5 (8) 0 () 3 ®) 3

8. 1f(x, 0)=(0.y) _then (x.)is equal to: —e s (x. ) ?K(L 0)=(0,») /i 8
@) (0:1) @ (L0) ) (0,0) o) (L1)

9. Distance between the points (1,0) and (0,1)is = e ebdien (0,1) 0(1,0) 16 9
(A) V2 (B) 2 (€) 1 \ (D)o

10. The symbol for line segment is: N i drdeie wd £ 88 10
(A) > ® € — 1

11. A parallelogram has congruent.

(A) oppositesides {. wLi¥ (B) opposite anglese:Ld (C) diagonal

12. The bisectors of the angles of a triangle are
S (B) concurrent ik

13. Equality between two ratios is cailed:

(A) parallel

(C) equal .z
,pgifﬁuﬁef‘zlzuwéuﬁ’;; 13

(A) proportional —-¢ (B) ratioc =+’ (C) congruent Jﬁt}‘* (D) equali?y‘ Ssls
14. Area of given figure is _H_ 1 IR % z(f({j’: 14
2 2 2 M 2
(A) 5cm (B) 10cm (C) 25¢cm (D) 20cm
15. The medians of a triangle cut each other in ratio ‘ugz_/(;guf:,:%(____/a_/qu;_;&n&w 15
(A) 1:3 (8) 2:1 ({&F 44 (D) 1:1
219-09-A-%¢
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Section - 2x18=36 Jito
2. Write short answers of any six partg from the following. 2x6=12 -L{/Q]’.:-glz/z?ﬁflzfga.éf;pﬂdjb» 2

i,

Vi

Vil

viii,

W1,

Vi,

i. Define Diagonal matrix with an example.

~1 2
N :{ ) 1] then find 2A matrix.

Simplify:

iv. Find the value of X and Y, if:

Find (og; ,iefind fog of 2 to the base 4.

Find the value of x.

. Find the least common multipte.{L.C.M)

. Salve the equation:

Find the solution set of:

. What is meant by Cartesian plane?

. Find the value of m and ¢ of equation 3x + 2y —1 =0 by LS yEmx e Jv+ 2

expressing it in the form of V = MY+

Define the co-ordinate Geometry.
Find the mid-point of the line segment joining the

pair of given points.

. What is meant by congruency of triangle?

ix. Define the square and also draw its figure.
Write short answers of any six parts from the following. 2x6=12 _Q&fagfﬁﬁ?d:ﬂ}ﬂ{c.d:"a.uidjén -4
. What is meant by ratio? i

i. Define triangle.

iii. Define rectangular area.

39x"y'z 91x’y°z’

S Jefimet s e
- 2
_&_‘f-?‘}l”..._.rlL:QALMLﬁ; Ap 2 1 /fi Bl

; ._3\’16x4}’) _%;‘E:{ ﬂl

x+fy+l=4—31l :‘,ﬁu—r/r,bf:’g‘_/(y”]x v

ek 3 log]l v
logy™ =x LY

Txy Y4y LE
i - il

Simplify: DN + 2 A

Factorize: 64x* +343 )"\ » _’/(df viii
. Factorize: 25x% +16+40x quf/df.“ X

Write short answers of any six parts from the following. 26=12 Sy f ;lzﬁ?ﬁylzlgaéfa.ddjém 3

_J'/rrsl""jk.jb;’bj i
_géf,”;r:u it

_a_;ilcybtﬂj’ i
,'; :f/l_((c.,d:'z"d":g v

_\-:5__? ={)

lbx+ﬂ—4:11
2

il =0l v

- s
-L,_/C’JL"\.':.{' Colmarl

A(3,-11),B(3,-4) )
Ye sl 'f'/-:.. = L/Ju
- /l'r.Lf", ;U(U(b-’luf A -/ ife

(.‘qd }[/gad..:{" i
Py ACY

7,% v b ?- 2 -1p YA



iv. Find the area of given figure. -“c_,"-}/':h’_},rb’fﬁfd; v

3cm
-
6cm e g \
v. Define congruent triangles. i ..Q/J‘;JWJLP v
vi. Verifythatthetrianlgeis right-éngledtriangie: a=5m , b=12cm ,c=13em _c s/ :fs‘:,lﬁ,fq/@ﬁ Vi
vii. Find the value of X LS x i
10cm
gcm
vili. Construct triangle ABC in which: msB=60° . mBC =3.7cm /mAB=48cm U et AABC &L i
ix. Define equilataral triangle. ,q,f_g}‘_f_u‘»{,wmd;b ix
Section -II (3;,39
Note: Attempt three questions in all while Q:No.9 is compylsory: 8x3=24 _e.d;ug/drr,,ﬁq&/’_—.yﬁéammfj e
5. (a) Soive by the matrix inverse method. dx+2y=8 ; 3x—-y=-I _%ZKJOLLGJJJ’G’LULJ‘; (i) 5
(216) x(25)" ‘
(b) Simplify. (0.0 4)-% A7 (L)
(438)" /0.056 .
6. (a) Use the log table to find the value of: (388)4 _"q_.i;}"“'.:..»{:;:_,upfd,uy(ﬁ;ng () 6

1

| _ Lo
(b) ;fx‘;=4,menfindthevalueor Fiion N e "-:T},w‘“;=4ﬁ ()

X

3x% - 38xy — 1337 _esF () 7

7. (a) Factorize:

b) Use division method to find the squ re root of the expression 9x" - 6x~ + Tx® ~2x+] _J;J*?J_n; P SEC P ()
= o 5

8. (@) Find the solution set of the equation: ]3 & 2x| = i()"' - ?l _4??‘;{“?’{;,1;& () 8
g
(b) Construct A X}Y7Z and draw their medians. _a,l S s Sl LXYZ 2l (..,,)

mXY =4.5¢m. mYZ = 3.4dcm, mZX =5.6cm
Prove that the bisectors of th’ angles of a triangle are concurent. LAl L,I‘{:UQE:.C&JK&;?T:.E 9
 OR {

Prove that the triangles on equal bases and of equal altitudes are E e sl Glle 45 ;,P-U'_ip;ﬁifuf//:ab
g e .

equal in area. _ju;.f,:u
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